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/00 ABOOOOOOOOO true
bool theSameSideOfLine(Point A, Point B
sgn((A-s)”(e-s * sgn((B-s)”(e-s > 0;

// ali] Ob[i] O000Di000OO0O0AOOBOOODO f[ijO100 0200
int getTangents(circle A, Point* a, Point* b,int* f

circle BB=(*this);

circle B=BB;

int cnt = 0;
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A.r < B.r
swap(A, B);
swap(a, b);

double d2 =(A.p.x - B.p.x) * (A.p.x - B.p.x) + (A.p.y - B.p.y) * (A.p.y
- B.p.y);
double rdiff = A.r - B.r;
double rsum = A.r + B.r;
sgn(d2 - rdiff * rdiff) < ;o /00

double base = atan2(B.p.y - A.p.y, B.p.x - A.p.x);
Point pa=Point(A.r,0);
Point pb=Point(B.r,0);
Point pO=Point(0,0);
sgn(d2) == 0 && sgn(A.r - B.r) == -1; /O000O0og
sgn(d2 - rdiff * rdiff) == /0000000
alcnt] = A.p+pa.rotate(p0,base);
bicnt! = B.p+pb.rotate(p0,base);

flcnt] = 1;

++cnt;
00000
double ang = acos(rdiff / sqrt(d2));
alcnt! = A.p+pa.rotate(p0,base+ang) ;
blcnt] = B.p+pb.rotate(p0,base+ang);
flcnt] = 2;
++cnt;
alcnt] = A.p+pa.rotate(p0,base-ang);
blcnt] = B.p+pb.rotate(p0,base-ang);
flent] = 2;
++cnt;

sgn(d2 - rsum * rsum) == /000000

alcnt]| = A.p+pa.rotate(p0,base);
bicnt] = B.p+pb.rotate(p0,base+pi);

flent] = 1;
++cnt;
sgn(d2 - rsum * rsum) > /000000

double ang = acos(rsum / sqrt(d2));
alcnt]| = A.p+pa.rotate(p0,base+ang);
bicnt] = B.p+pb.rotate(p0@,base+pi+ang);
flent] = 1;
++cnt;
alcnt! = A.p+pa.rotate(p0,base-ang);
bicnt! = B.p+pb.rotate(p0@,base+pi-ang);
flent] = 1;
++cnt;

cnt;
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Point LA , LB ;
circle ansc ;
int fl C
int main
int t;
cin>>t;
circle cl,c2;
circle ccl,cc2;
Point pt;

t--
cl.p.input();
scanf("sLf",&cl.r);
C2.p.input();
scanf("slf",&c2.r);

pt.input();
iv=Inversion(pt,10.0);
Line 1t;

int f;

iv.getCircleInv(cl,1t,ccl,f);
iv.getCircleInv(c2,1t,cc2,f);
Line 11,12,13,14;
circle C1,C2,C3,C4;
int q = cc2.getTangents(ccl, LA, LB, fl), ans = 0;
inti=0; i<gq; ++i
Line lt=Line(LA[i],LB[i]);
1t.theSameSideOfLine(ccl.p, cc2.p
Ilt.theSameSideOfLine(pt, ccl.p ;
iv.getLineInv(1lt,ansclans],f);
ans++,

printf("%sd\n", ans);
int i = 0; i < ans; ++1i
printf("%.8f %.8f %.8f\n", ansc|[i].p.x, ansc[i].p.y,
ansc(il.r);
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